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QUESTION 1

Which two statements are true about stakeholders working with Business Process Workspace? 

A. Process owners manage rules for users and groups. 

B. Process owners can act on tasks belonging to their process, but are assigned to other users. 

C. Process participants can delegate work to another user. 

D. Administrators typically get involved to handle task escalations. 

Correct Answer: BD 

 

QUESTION 2

Identify two statements that correctly describe OWSM policy attachments in Oracle SOA Suite 

A. Although you can attach as well as detach security policies in JDeveloper, you can only detach them in Enterprise
Manager. 

B. An application developer typically uses JDeveloper to create new security policies rather than select them from a
prebuilt list. 

C. When you use JDeveloper to associate a security policy with a web service, the policy is not really attached until
application deployment. 

D. OWSM policies can be attached and detached with WLST. 

Correct Answer: BC 

 

QUESTION 3

Which two statements accurately describe the invoking of a human task? 

A. A web service client in a different composite can invoke a human task. 

B. A human task can invoke another human task in the same composite. 

C. A BPEL process can invoke a human task in a different composite. 

D. A human task can invoke another human task in a different composite. 

Correct Answer: CD 

 

QUESTION 4

In a BPEL model, what is the quickest way to implement a capability to skip rule execution if a particular condition
holds? 
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A. Model a switch activity to conditionally execute the business rule component. 

B. Use a skip condition on the business rule component. 

C. Include an XPath expression in an annotation on the business rule component. 

D. Use a correlation set on the business rule component. 

Correct Answer: C 

 

QUESTION 5

Which two are objectives that you can achieve by using business rules to direct human workflow? 

A. Load balance tasks among users based upon server utilization. 

B. Redirect the process flow as specified in the PBMN model. 

C. Escalate and reassign a task to the manager of the current assignee. 

D. Skip all subsequent routing and mark a task as complete. 

Correct Answer: BC 
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